S Ratio Word Problems

Identify the ratio numbers:

Emily and Jessica shared their toys in the following ratio 9:8.
Jessica got 42. What was the total amount shared?

Anne and Sheila shared their books in the following ratio 1:7.
Sheila got 4. What was the total amount shared?

Isabella and Isla shared their pencils in the following ratio 1:5.

Isla got 5. What was the smaller amount?

Poppy and Sophie shared their comic books in the following
ratio 1:10. Poppy got 16. What was the larger amount?
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